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GENERAL MATHEMATICS
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Candidates shall note that each question will be multilingual, viz., in
English/Assamese/Bengali/Bodo/Hindi medium, for their ready reference.
i In case of any discrepancy or confusion in the medium / version,

the English version will be considered as the authentic version.

The figures in the margin indicate full marks for the questions.
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SECTION - A /w—'rmw—-wm-m/*'m

1. Choose the correct answer :
T SEIh! AR Bfredt
nﬁmﬁ;mm:
A R ara T R -
mﬁmgﬁq:
(1) Ifxecyand whenx = 6 then y = 30. Now if x = 2 then the value of y is !
TMrocy AFx=6T@Ay=30 | o x=2TAyIMAZTI—
Mhxocy GRx=6TW, y=30 | 9 x=27Fy - AITTI—
R x o<y AT x = 6 TWESAT y = 30 | g x = 2 et y P wr ST —
| fe x o y3ﬂ'(x=63\1,ﬁy=30Imx=2€l?ﬁy?ﬂma’"“
Ja12 . (b) 15
10 () 20
(ii()/' Which of the following is a squar€’of ‘an odd natural nﬁmber ? 1
7 O (IO TR QO SR ARG Fof 2
ANBA @I R G @AFTRYE 35 2
MR A8 FAREAR—T A sor 3w = 2
feadasdaenfmasnsiati

@) 256 | (D69
() 546 d
R ©) | s
C (iii)| The value of /8 + 327 + 364 is - 1
B +327 + /64 3TN TA
{/§+{[27+{/6—4--ﬂ§ﬂﬁm—
{/ﬁ+{/§7+{[@ﬁmﬁnﬁae
{/§+{/-277+{/6_4'ﬂmﬁ’11-
(a) 6 (b) 7

(c) 8 9

B23-GM (EN/AS/BN/BD/HN) 2 3047
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(iv)

Euclid’s division lemma states that if a and b are any two positive integers
then there exist unique integers q and r such that 1

REfree Rerem il PR 3t a % b RIS 70! Qe e Ry
T (Y &+ 7O SESW WA q ¥ r TN IR TS -

RIFCR Rore i Spig 3fii a @R b @ @A 7 @MIE e
TRY! T SR S 7 SRS TR q 9% r ANSH T @ —

\'mﬁmmﬁw@aﬁi:ﬁaaﬁbmﬁﬁmﬁm

(v)

T SR ST 37selT oA Wi TR 1S ST q 3T ¢ A e —

gfFre fenem waflest & STHER 3R a 3 b S yeTore quilss € o Ut arfedta
ol wed q 39 ¢ e & 6 - Egm
(a) a=bq+r,0<r<b (b) a=bq+r,0<rs'b = .

Mq+r,0$r<b (d) aFbg+r,0<r<b

he number of decimal places after'which the decimal expansion of the
\ .

24 53

rational number will.terminate. 1

wﬁmm@ 53<W'rﬁas 2PTRER WfE T eIt @Rt Ta =
L

3
ﬂﬁmaﬂm;?g—mmﬁasmmwﬁaswmmmw
R A |

mm24f53ﬁmwmmﬁﬁmmﬁ

mom
FARHIT Sy -
Sk
R wen 24 % 53%mﬂﬂmﬁmﬁﬁmmmﬁmg_
(a) 3 (b) 4
(c) 1 | &5
B23-GM (EN/AS/BN/BD/HN) 3 3047
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,(Vi) ,/f[f 1 is a zero of the polynomial p(x) = bx
T p(x) = bx? +4(b+ 1)+ 1 IZAMHIT GBI [+ | iﬂmb?ﬂﬂi’?—
M p(x) = b2 + 4(b + 1) + | FEeARHR G T | T O b~ T I

IR px) = b + 4(b + 1) + | fereramitaify A7Q e’ | TR I b

244 (b+ 1)+ 1then the value of

AT ST —
TG p(x) = bx2 + 4(b + 1) + | 1 = 1 , A b FTAAE -
=1 b) 1

c) 0 d) -4

(vii) [If the sum and product of the zeroes of a.polynomial are p and q then the
polynomial is 1

ﬂﬁﬂﬁwwiﬂ]@%ﬁNWWﬁWquwmwﬁmﬁ—
3 B TR FIBRR GG *FT p G3R q 2 OIZCE I8 29 —
Tfe AR forgremiiaity @frg ®RfY g oY SesTETRE whE p I q
SRR T fergreriETeT §mT —

e foreht wigwe et 1 A SR s p 3R q B At agTE R -

(@) X2 H@¥Qx+pg "= (p+qx~pq
(© x*=(p+qx+pq (d) »®-px+gq

( ;(viii) The condition that the line ax + by + ¢ = 0 passes through the origin is 1
ax + by + ¢ = 0 3731 CIICH! FEARYI TS I HETH! T —

ax + by + ¢ = 0 FFARNG TARR 74 Py e =i 2z —

ax + by + ¢ = 0 Tt gRE R R IR Ui e S —

[T ax + by + ¢ = 0 % 7 foig @ T it 7l @ -

(a) a=0 (b) b=0
(c)¢c=0 A T#0
B23-GM (EN/AS/BN/BD/HN) | 4 3047
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( (ix) ' The coordinates of any point on y-axis is E2m 1
y WY GRS 4t Rt a2 29 Eﬁ
y ST 8 U @ (I RR TW1F T3
y-Tie TR FraTe g sraRgsmn R arafy e s -
y-% T e el faig w1 idarios & —
@ (0, (b}-T5. 0)

g (Zﬁ (x,x) (d), ofx2y)
\ (>y ne root of quadratic equation is 2 and the sum of the roots is 5 then the
- equation is : 1

D! fRre AT 951 27 2 HF T (B @19 5 (0% TP T
) RIS ARFACR G0 21 2 €32 1 7R @t 5 e FRFA 23

A ST THEYTEE AR Ao 2 AR A ARSI 5 3reen
qUAYTSE S —

afe el e woftentor <61 O T 2 R SN e HANTS R, o T § -
(@ 5x+6=0 (b) x2+5%—6=0
SR -5x-6=0 (d) x2=5x+2=0

2. Choose the correct answer of the following ;

o W TeH0H! S Sferea
o e v Tt @ Ars mem

1) If %, a, 2 aretthe thrée consecutive terms of an AP then the valu;: of “a” is " 1
aﬁ%,a,zamwaﬂm&ﬁﬁﬁﬁﬁ%wmaami’a—
TS, 2, 2 T TR etaoR Rt iR+ 2 O a- €7 I 7 —
R 3 o, 2 i gy s e g TR e a T S —
a3, a, 2 et AP 3 i s 0 # 2 LA 2 -

7 5
@ 3 b) 2
d,)/g/ d) 5
€)% P
B23-GM (EN/AS/BN/BD/HN) 5 A 3047
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1 ‘ -

|
l i 0 C = 6 cm, then ’
(i) AABC is an isosceles triangle in which £C = 90" If AC - |

/AB=7 ~
AABC “ﬂmmmq’g AC=90° |qﬁAC=6m‘ﬁ. @CVSFWT

AB=?

AABC @3 smf¥ar frger @i £C = 90° | 3t AC = 6 T.M. T I
AB=?

AABC 378 v e s S £C = 90°, IR AC = 6 ¥y
ST 3T&HAT AB = ?

AABC @& wHfgarg finw 2 |ﬁ|’gﬁ£C=90°%|ﬂﬁAC=6ﬁ:ﬁ€'7?ﬁ
AB=?

Wm@:ﬁ:fc’iﬁ./ﬂﬁféfﬁ ,
(b) 6 cm/t=:f:/G1. 1. AfyAdR
(c) 2\/3 cnﬂi:ﬁ:/(ﬁ.ﬁ./ﬁﬁf@‘ﬂ
(d) 4\/5 cm/TR: /1. [ Aafad

‘@The distance of (3, —2) from the x-axis is ' e 1
(3, -2) B! x SRR @Y 'Y

(3, -2) RoR x % R IR W

(3, -2) Toram x-71f FrE T STTEE i —

(3,-2) Rig i x-sgAghH 2 -

(a 3 | b \B
(c | @ 2

and (4, 0)is 1
(=2, 0) ¥ (4, 0) IR [AARGT y-SPHE Sl I TSB! 2'7 —

(=2, 0) &R (4, 0) FRCIR ARG y-SCF St} T ot 23

(-2, 0) IR (4, 0) AT TG WG y R FEIA TEE GrETER

: (iv)> The ratio in which y-axis divides the line segment joining the points (-2, 0)

FIUTEI AN —
faigatt (-2, 0) 3k (4, 0) F A T T@TEE F y-wﬁamﬁm
A, TR
(a) 2:3 §Jp) 1:2 PR
() 1:4 4 2T o
B23-GM (EN/AS/BN/BD/HN) 6 3047
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(v) A straight line which intersects a circle in two points is called - 1

GO A (TR GBI 36 7ot R (@ IR Ao '3 -

b Tt o 3t b Rers o wE @i 79

R T ETEe W FEE) AR R g e giEte S -
T & S e 30 9 @ gt mofredg et d s e € -

(@) chord (b) radius EZm
L) JPA m
L) Silii
fafer grat LECIC
Sftar | Iy

(c) tangent \_@/Seea‘nt/'

b 4 (L
w9 . BTH @

.- - 3 :
MnA=gthentanA=? 1

nﬁsinA=§m tan A =2

s EgE
‘IﬁsinA=%WtanA=? d
§ﬁsinA=%3T€6TltanA=?
uﬁsinA=%2,?ﬁtanA=?

@ 3 ® 3
" 'S

B23-GM (EN/AS/BN/BD/HN) 7 3047
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/ (vialf TP and TQ are the two tangents to a circle with centre O so that

" ZPOQ = 110° then ZPTQ i equal to
T O T T& bt 7Ea TP W% TQ oM =i, TS £POQ = 1107
ZPTQ AN T'T —
% 0 WEE @3 08 TP Gk TQ b =0, ATS LPOQ = 110° BITA
ZPTQ — @3 AW TR — |
MR 0" e M AR FeaR TP I TQ 1 Wi wEN, e
ZPOQ = 110°, 3{=AT /PTQ A JT —
vﬁTP,TQ%aoaﬁﬁwﬁéﬁmam}aﬁwm%%zpoq=110°

(A4

?, @ LPTQ I & -
@ 60 Ot
(c) 80° (d) 90°
(m If the surface area.of-a,cube is 486 cm? then its volume is — 1

s b1 T BRI AW 486 (=::2 2 (o0 34 TEST ' —

@b TR fet 486 T1.R1.2 T oA @R e 3@ —

WA v forg qeemsira 92 486 A2 St are AR TR S —
fe el = 1 g @her 486 A2 R, 4 sHT ST R —

(a) 81 cm3/te:fi:3/01. .3 a3 et

(b) 243 cm?R:f:3 /1.3 A A

(c) 529 cm3/me:fa:3 /o543 /a3 A

Wmﬁ:lmﬁ.wﬁ#&w

B23-GM (EN/AS/BN/BI/HN) 8
3047
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(ix) The median and mode of a data are 33 and 45 respectively. Then its mean is

B! YT T T I IAFH 33 AF 45T @AM LI —
b ST T G} ILT IUIFH 33 IR 45 T N4 T —
TR G ST R SeTian Hiid 33 3R 45 Ee TARET A —
T TS 1 AT 3N agerd HA: 33 IR 45, D@ A § -

(@ 30 (b) 33 )5 (5]
(©) (d) 35 E‘%

(x) / Tﬂe probability of getting a number 8 in a single throw of a die

7

90! g Bl @311 TR 8 TR TRt 27 —
931 B G NI 8 e FSfot T —
A STEEE Qo TREERTE 8 QAT STLTEETET AT

T U ) T SR A | 8 I ) e & -
@ 3 BOK;
() 1 (d)

3. Answer the following as directed :

TP Seawie
ﬁ?ﬁqaﬁi}ﬁmwﬁ

few % argam Iw difvf :

(1) )'Vhat is the area of a rhombus whose lengths of diagonals are 8 cm and

4cm?-

D! IR I OIeR 07ef 8 R wF 4 A T AR T 2

1

LI L]
4G TR T TR f 8 G =2 4 TR 2 v 2@ 9 E@
A8 TEEEH G gl G AeuTE SR 8§ | A 4 Ay wrtee

3047

AT |1 AT 2
TF FIEQT F1 St 1 B R gl o 6 omard e 8 4 3k
49t g ?

B23-GM (EN/AS/BN/BD/HN) 9
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1l ipli eta
(\ly Find the smallest number by which /27 should be multiplied so as 0 8 ,

rational number.
mmwmmﬁamaﬁmmqﬁmmnmmm
TRYIH! Tfereat |

ST 1B 1 TR e /27 6 o6t e iy <A TRy MRl 3
o’ YIS @ |

wafrgy IR SRS 27 W e Aed Tasie R A
T & sAfimTa fog |

TR B FEH T R Rl 27 3 o w0 T T TRET T T |

| (iiiy’ What is product of the zeroes of 4x2 + 8x ? ' 1
4x2 + 8x T[T PR “RITA I 9
4x2 + 8x — GF LT @I i TR?
4x2 + 8x P FTRTE BRAY FrSTTETIET 1 A 7

) 4x2 + 8x % Y[h! T UG T8 ?

((iﬂ If n is the degree of the polynomial p(x)-then what is the number of zeroés |
of p(x) ? 1
% @Bt I p(x) I T n W m«ﬁm*ﬁﬁmmﬁmﬁi’a ?
W @B IR p(x) — GFTA 0T I IZPMIOI TR NPT IS LI ?
gﬁnﬁ@ﬁmﬂmp(x)ﬁmnmmﬁmﬁmﬁmﬂ
AT S8 T2
Tf et 7gue p(x) 1 9T n ], W p(x) F IR Y FEAT 1w 7

(o

\ v)! Write true or; false :
/ Ox + 0.y + k=0, (k#0)is a linear equatlon 1

e} 3 Ty fora
0x + 0.y + k = 0 (k # 0), «bt Taf=s 7wt

] 1 ST TR
Ox + 0.y + k = 0 (k # 0) G35 LA Aqwaet

Ox + 0.y + k = 0 (k # 0) 3 HIQ FRGIATR FATTTE |

a9 11 Fuw faflag :
Ox + 0.y + k =0 (k # 0) @ tag wfwwor § |

B23-GM (EN/AS/BN/BD/HN) 10 047
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(vi) Find the number of solutions of the equations
/x=4y+6=0and3x-12y+18=0 1
X =4y +6=0F 3x — 12y + 18 = 0 NPT NI 7R3y} ey 357 |

J

X =4y +6=09R 3x - 12y + 18 = 0 ARFATIY TR 3! 67 I |
x—4y+6=03 3x - 12y + 18 = 0 GHHUTEH AragaTsh 3wl g |
x—4y+6=0 3N 3x - 12y + 18 = 0 GefiewTul  gall =) HEAT F1d HIFAT |

((yli) What is the condition if the roots of the equation x2 + px + q = 0 are real
and unequal ? | | 1

x2 + px + q = 0 TRTITUBIR o1 7B G2 SF SPTIeT (R SETD! R 2

x2 + px + q = 0 TR 1 7% AT G Sy T6TH 1B H 2

x2 + px + q = 0 FHHYTEH T FHHAT TR G 7S STHIET TETRan a7 7
TR 12 + e + q = 0 % Bt SR ATGR 9 8 By v 7 l,,@i_%

(v‘ii‘i) 'hat is the value of c if the'Toots of the equation ax? + bx + c =0 are equal ? 1
ax2+hxfc=OWWW@WQ'@CQW%Q??
ax? + bx + ¢ = 0 TP T4 7% 71 2 ¢ AT TR ?
ax? + bx + ¢ = 0 FAFATER A W1 T TRee ¢ A W e 7
A IR ax? + bx + ¢ = 0 % YA TR &, T ¢ T HH TR 7

Ki") What term of the A.P2,4,6,8 ...... will be 50 2 1
uldD
2,4,6,8 ...... &fEBR Rewen o 50 < 2 ;mm.

2,4,6,8...... 2SI TS FRYF T 50 AP 2

2,4,6,8...... qEAgfe Mmify ara fRgram 50 g 7
AP2,4,6,8...... %1%\ W92 50 B 7

B23-GM (EN/AS/BN/BD/HN) 11 3047
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4.

B23-GM (EN/AS/BN/BD/HN)

(%)

hat their
How many terms of the A.P, 24, 21, 18, ...... must be taken so t

sum is 78 ?

24,21, 18, ...... G% TR U Reisibt o A FrEe qaree 78 11?
24,21,18, ...... % TSR o7 T oW e oI o 78 LI

24,21, 18, ...... ¥ Trighy ey e R T JE ST
78 P 7

AP24.21,18, ...... * fraa ugi w1 78 @1 7

Answer in short :

5y e o
TN TEA S

@

%

In a triangle AABC, DE||BC. If AD = 1.5 cm, DB = 3 cm, AE = 1 cm then
EC=? 2

uﬂmﬁquABcwDEnchf%AD—lsciﬁ DB =3 @f;, AE=1
= W SWEC =7

<3 fags AABC T DE | BC H9.AD = 1.5 31, DB=3 G1.R., AE=1
G meEEC =7
u\qﬁmﬁamAABcanaDEnBcnghAD-lsﬂﬁ DB =3 &fy,
AE = | afy 9t e EC = 7

ﬁgaABcﬁDEnBc%wﬁAD—lsﬁuﬂ DB = 3ﬁ=ﬁaﬂtAE—1%th
A, WEC=2
AB BC CA

In AABC and. APQR, QR ~ PR~ PQ then what is the triangle, similar to
APQR? 4P L

AB BC CA
vﬁAABCWAPQRa QR = PR = PQ T (S8 APQR I 75K STypet (ol

fagem & 7
AB BC CA

i AABC &% APQR - <R QR = PR ~ PQ T S APQR - @R o
fargwf® & 7
s AB_BC_CA

I AABC 3R APQR QR = PR = pQ ! 3 APQR Wi WEwd Sy
a7
AB_BC CA

AABC AR APQR #, &p = b =F0 &, APQR ¥ Wy w1 fingw & 7

Page 12 of 23
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)
\ \(i"' What are the co-ordinates of the mid-point of the line joining the points
(-2, 5) and (8, -3) ? A 3, \ 1
mam
(=2, 5) =% (8, -3) AN R PRI F 2 E%

(-2, 5) R (8, -3) AN IR VYRR THT N 2
(=2, 5) 3 (8, -3) T gremrarrar i Aok R wrafy feran A 7
faigatt (-2, 5) 3tk (8, -3) Ft e w1l YwrEE ) 7wy fiig o g 7 R 7

(iv) If the points A(6, 1), B(8, 2), C(9, 4) and D(P, 3) are the vertices of a
parallelogram, taken in order then what is the value of P? &4, 1

M A6, 1), BB, 2), CO, 4) &% DP, 3) el @%bt FaCe ot
SRR M R 2 (og P I A R g3 2

Tt A6, 1), B(8, 2), C(9, 4) 9 D(P, 3) Rl 4 ey ofb e
AR~ 27 ©IZe P-9T I S FF 2

9 A6, 1), B(8, 2), C(9, 4) R D(P, 3)ﬁaﬁﬁrﬁmnﬁmﬁ%ﬁ
o< st arseT P R AT WIS 2

afe fag A(6, 1), B(8, 2), C(9 4)aﬂtD(P 3) T TR IS & ¥ w6l
o g, Y P &1 o 97 8L 7

(v) Value of tan 48° tah 23°tan 42° tan 67° = 2 AW 1
tan 48° tan 23° tan 42° tan 67° I =2
EE
tan 48° tan 23%(tan 42° tan 67° G T = ? E@

tan 48° tan 23° tan 42° tan 67° A AF = 7

tan 48° tan 23° tan 42° tan 67° HIHAH = ?
[ (‘vn; \What is the value of 2 tan245° + cos230° — sin260°? 2L 1
T 2tan? 45° + cos? 30° — sin? 60° TR 7
2 tan? 45° + cos? 30° — sin? 60° G T N 7
_ 2 tan? 45° + cos? 30° — sin? 60° fY AFT AT ?
2 tan? 45° + cos? 30° - sin? 60° FTAA TR 7

B23-GM (EN/AS/BN/BD/HN) 13 3047
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‘s : : ‘ a circle of
(vii) What is the distance between two parallel tangents drawn on

radius4 cm? ¢,

4 C&R: TP T S TG =1 FoIerd T 7 P 7
4cmwmqmufmwmwfwmmmam?

4 ARy dw R o g g SR Y ST 8 2
430 e Y e 7t et e e Yot & e A gh R EA 2

(viii) The length of a tangent from a point A at distance 5 cm from the centre of
the circle is 4 cm. Find the radius of the circle. ¢

6T TR 5 (= : TS 21 Bt Reg A 3 971 {0t e 4 T |
TEBR JPI% g 311 |

e T &TF 5 CLA. A At o Ry Ao (e @3 ==rdees or
4oL | gEbr e efa acan |

Jaty frfivera 5 A ST aEE AR R A fier iR g R
ATRATEN 4 Ay | FEAl wEE fegd

9% $3 @ 5 9 ) g e fig A 3 Sl T v v Y e 4
2 | ga i s wa Hifrg ) -

(ix) The length of\the minute hand of a clock is 14 cm. Find the area swept by
- the minute'hand in 5 minutes. - 1

<51 781 ffA53 FibroER W 14 =, 5 RS @R FHem w1 wie
i Bfereat | |

a3 <fex Rfver $oia oref 14 Tif, 5 Rifvs ofer SO0 @ gfem
(Faga {3y A |

& aify fifte qrEfy @ 14 A, 5 Rfveema fifte g e s
TeeEty fog |

@ T S Pre aefl g A wd 14 TR | S PR i@ R g S .
gAH 1a HfI |

B23-GM (EN/AS/BN/BD/HN) 14 3047
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5.

B23-GM (EN/AS/BN/BD/HN) 15

(x) If the difference between circumference and diameter of a circle is 30 cm

then what is the radius of the circle ? (use n= 2_72)

3t Bt 7E AR = PR e 30 = W (ST TIBR A R

237 (R =%

3 G Jre ARt 2R TR =y 30 G101, = o g s N
22 |

W? (W?FN 1'c=-7—J

I AR ey SRS R s @ ErE HRem 30 A ST sren dEA
22

GE I AP 7 (W-n =-7_)

e @ g9 i witfr o =g # 30 3 w1 3R R @ g9 e w2
22 o
(R=7mmﬁl) EZE
5

Fill in the blanks choosing the correct option-from 'the alternatives given in the
brackets :

A FESTS it RFER1e o141 W Seaehl.aif ifer 5 Jg 3t :
@A oot orent Rewafe i@ wa el Qe o e «f 76 :
A< e T st REEE W e TEE A w@ig et 3y
QA | .

HEH 1§ o 7 farmeat A gdl ST g fam @i+ w

WM
=

(i) If the volume of a sphere is 288 1t cm? then radius of the sphere is

n/ 8 cm/ 10 ¢cm)
Bt CSIF SIS 288 1t (=23 2 (@ (NFFDIR IPTH 2] .

(6 =:R7 w=:fy s ey 10 Trf:)

GFf N e 288 1 LRI 2@ TR Tod P =R .
6 R AR 8F[M 10ER) |

R g e 288 n &S SRfteeT gegt @ wTaT W ,
(6 afty/7 afty 8 Aty 10 /fY)

3 T T 1 TTE 288 1 em? B, TN T B} ,
7R 8y 103

Page 15 of 23
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(i)

: . ' e of
The curved surface area of a cylinder is 2200 cm? and the circumferenc

. : 1
the base is 220 cm. The height of the cylinderis

(4 env/l cm@cmf 5 cm)
Bt R T o 2200 2 o g Rfy 220 @R: | FEEDH

Twerzd @l @fio @iy @R

o @R T Mo 2200 o2 Gk B oARR 220 FLA. | @R
A R BN Y AL WA R e AL WAL Re AL WA R AT B

MR TEh Wen g gsemsRan 2200 Af? oM g ARPfE R
2203 | ggR sS4 3fyrdfio afy 3 af)

T SO 1 6 T SRS 2200 cm? B X 4R 1 9’ 220 cm B, SoH

(i1i)

RNI=ER (4 |Y/1 |/ 108y 3 )

If the mean of x, x + 330+ 6, x + 9 and x + 12 is 10 then value of x

XY U 1

‘Iﬁx,x+3.x+6,x+9Wx+ RIVG 10T CE@x I

(5/4/9/8)

W ox,x+3,x+6,x+9 GR x + 12-97 NG 10 W OKA -9 T TI

_ .(574/9/9%)
3&.\'.):+3..\'+6..\'+9 A v + 12 T l()mm.\'ﬁmawﬁq
. .(5/4/9/8)
Maatdxtout9sfior REAR IO, Aowamgm
(5/4/9/8)

B23-GM (EN/AS/BN/BD/HN) 16 S
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(iv) The probability of an impossibleeventis . (1/5/0/6) 1
! ST TSRS T (1/5/9/6)
O ST AR TR T (1/5/0/6) Em
R Sy STy e (1/5/0/6) @
WA TARTRENY  1(1/5/0/6)

(V) A die is thrown once. The probability of getting a number less than 5 is

T 1,1,5,2
A (333 , 1
«ﬁnﬂvnaawsm3w%eaniwlsv%¢5ﬁﬂmwnoﬂmaﬂvﬁﬁﬂiw
[l/l/i/zj
2/ 376" 3 |
B AP SR TR AN A | 5- R C=lB Tt 1S TSRS 2R
-(l/l/i/ij
2/376"3
AR ST W TREE w15 gy % o el s
1 1,52
S 5/361) |
T UTH 1 T S B T | 5 & B T 1 H 6 A1
(1/1/2/3)
2" 376" 3 EZE
O
B23-GM (EN/AS/BN/BD/HN) 17 3047
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SECTION - B / ¥ — ™% / ¢ — *¥ / T —aTgrht / TA-WHT

6. / Factorise:z-7+7xy-xyz =
B RS 3. 2 - 7 + Txy —xyz
Bt RO IR 2 - 7+ Try — xyz
g fRfR: z- 7+ 7xy —xyz
TURGSA I : 2 — 7 + Txy — xyz

7. Show that 5 —~3 is irrational. | 2
N TS @ 5 —[3 FRTw |

T8 (@ 5 —[3 SARTH |

fefRx 12 5 — /3 3 Taeeenty |

g AR 6 5 -3 o st depe

8. ~ In AOPQ, right-angled,at Py OP = 7 cm and OQ — PQ = 1 cm. Determine the
/ values of sin Q and-cos'Q: ' 2

AOPQ 3 P F34 =¥ OP = 7 &fl: 91 0Q - PQ = 1 &f: | sin Q Wi®
cos QAT g =41 |

AOPQ €3 P AN ¢}k OP = 7 G1:f: @R 0Q - PQ = 1 GI:f: | sin Q @2
cos Q - G i st 3¢t |

AOPQ i P 3 @ify @1, 3R OP = 7 8 0Q - PQ = 1 A | sin Q 3 cos Q
faam feg |

AOPQ # frae Hivr p guenior 8, OP = 7 &+t 31 0Q - PQ = | &t R | sin Q 3K
cos Q & " FTd FAT |

B23-GM (EN/AS/BN/BD/HN) 18 3047
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o ——

/lfsm(A B)—— cos (A + B) = I , where 0° < A + B £ 90° and A > B,

10.

11.

find A and B. 2

T sin (A - B)“cos(A+B) IIEO°<A+B<9O°WA>B e
AWBﬁ‘fﬂWl

3% Sin (A - B) = cos(A+B)——mm0°<A+B<90°«ﬂa\A>BW
A*ﬂ?RBﬁ‘f‘QW?nl

. 1
E‘IﬁSm(A—B)=§,COS(A+B)=%G\ﬂaO°‘<A+Bs90°31T{°IA>BmA
R B @ feg |

Ife sin (A - B) = cos(A+B)—%,O°<A+B<90°A>B§ @ A 3R B I

EEE
A T4 iR | El%

Hari tosses two different coins simultanedusly*(say, one is T 1 and other is ¥ 2).
What is the probability that she gets atdeastone head ? 2

20 vo! fom Jut Gietest B R0z (491, @Bt 1 TR =i S 2 TR | (o6
oS FTHE YOI T9 TIRT TR & 2

2R i for @ @3- B R (WA, uﬂaﬁ;ltﬁw«wﬁzmn | 7 3
IS GG G ISR TSI F 2
mﬁ@@maamm(wn@mluﬁWwﬁ@mz
T @RR) | o TR W G AR SITTeETE a1 ¢

TR 3 - bl Y T 1Y IBTOT B (FH SR o Ryt ¥ 1 1 @ ok g
a1 T2 F1R) | 5 F91 WTFrehar 2 T o8 9 A 1 o fo wra wam 2

Solve : x +y=14,x-y=4 | 3
AN I v +y=14,x-y=4
MUH IR x+y=14,x-y=4"
WWM’*Y: 14, x-y=4
g BRIy = 4,5y =4

2.5
C|

B23-GM (EN/AS/BN/BD/HN) 19 3047
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J
!

12.

) 13.

15.

B23-GM (EN/AS/BN/BD/HN) 20 3047

Find the roots of the equation 2x2 + % = 2x.

2v ARTAR A LI Shereq |
2v AR [ABR @1 I |
Z\3+5=2\'mm@ |
Tl 242 + 3 = 2 % i )y o |

232 +

Il

222 +

Il

How many two-digit numbers are divisible by 3 'T v

HO! SRIRFB 1R bt 3 1 Rty 2
uib orw RFER =y Tl 3 @1 Rereg 2
A FARE T AR AR 3 S e Vs
A 3l arelt et wemd & e # ¢ ~

S and T are points on sides PR and QR of APQR such that ZP = ZRTS. Show
that ARPQ ~ ARTS.

APQR ¥ PR ¥ QR 31T €T S ¥ 190! ¥ TS LP = ZRTS | (IS
ARPQ ~ ARTS | ‘
APQR—4F PR &R QR 1T THTA S 9= T Hfo A% WS P = ZRTS | (A8 W
ARPQ ~ ARTS |

S AR T 31 APQR 1 PRATA.QR A grama i i) Saa 2P = ZRTS |
e & ARPQ ~ ARTSY \ -
APQR #! YT PRSR QR W HaW: fiig S 3 T 30 wor R & &
ZP= /RTS & I'gis¢ f6 ARPQ ~ ARTS 2 |

If A5, 7), B(- 4, -5), C(-1, —6) and D(4, 5) are the vertices of a quadrilateral,
Find the area of the quadrilateral ABCD. '

3 A5, 7), B(- 4,-5), C(-1, -6) &IF D(4, 5) Rrazht «bt vgem Ty =,
(ST8 ABCD 5QE&ibA 3ifar Tfereat |

3 A5, 7), B(~ 4, -5), C(-1,-6) &k D(4, 5) Regafer @b v MRy =m,
1A ABCD 5Q&&ba coaare fefy 3 |

Hfe A(-5, 7), B(- 4, -5), C(-1,-6) I D(4, 5) BRI At SRy Rifafy Ry
JRTEAT ABCD Sra@nfRiafy geemsfy i |

afg A(-5, 7), B(- 4, -5), C(-1,-6) 3R D(4, 5) T S & ¥ & & v& wmpfw
A% 1A HIAT | ‘

Page 20 of 23
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_16. Prove that in.two concentric circles, the chord of the larger circle, svhich touches
_ the smaller circle, is bisected at the point of contact. 3

I T A 1 QT 38T, Tiey JEHR WO 7F a0 = IR,
Emsl”%mf@@im
: W I @ A I qars, I3 Jah Wit @G @b = T/, i
</ = pffrs sTfers 27 |

<

WO G R e e dawr e ded e e de
mﬁ@wqiﬁaﬁﬁmmﬁm'm|
g i 6 2wt it i 93 g ) ofvar 1 B g ) w2, T g
R EHfgTE B R | , E%

(=]

| @ A horse is tied to a peg at one corner of a square shaped grass field of side 15 m
. by means of a 5 m long rope. Find 3
’f (1) the area of that part of the field in which the hors€ ¢ar graze.
(i) the increase in the grazing area if the rope were,10 m long instead of 5 m
(use m=3.14)
15 fB1% RT3+ Isferaiaix iz e @bt @ies <6t 4o 5 bR Tive I[_A
9! (1]t iR TR 2 |
(i) THIRITH! T'S BRR AT YT FIRSRAGR ifer w341 |
(i) 3 - 5 bR Tl 10507 e 2w, 1T Seehix I T 4 |
| @R[ F|Mn=3.14)
15 5 28 @3 I{CFIFIIATR N7 3 @It @i fors 5 R e
A i M (IO Ty MR | |
| () Carel @RI BT (ITS AR MDA 1R b7 Cparrad fefy w0 |
i) 3 FR 5 WOER =R 10 b Tl = o et wweafdey 3f fofy
I | (IIVE I n=3.14)
A TrEE! 5 frer M fegal 15 fer smEtf M1 JFE w1 AE TR BRmi
A @' Frfy Raen REEE @R Q= |
) e T g g e T TR e |
i) TTE g geemea! A g 9t Rt 5 e dem 10 frer Mo
g | (1=3.14%)
15 T2t Y AT T BT AT & ATH & Th BN | JE | T g A 5 W
et vt @ iy e R | @ A
(i) W%WWWWWWWWW%I.
Giy =R T fea # i, AR g W 5 e Tl wh & e w10 R
e vt @ afa R 9 | (= 3.14 1w AR )

B23-GM (EN/AS/BN/BD/HN) 21 3047
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—

A hemispherical depression is cut out from one face of a cubical wooden block
such that the diameter “/ of the hemisphere is equal to the edge of the cube. 3
Determine the surface area of the remaining solid.
«bt TR T [T QUMWWWWWWWW
TACS SETIERFR P /™ TR I DTS 05 W | SRAE e oqpfer e 331 |
7 T TR LI G B ¥ g SR WpeR TRl
(ST TR TS SECIAT AT */* TR @SR 7% F 2 | FRFE BT
e et 3 |
TR TR ST TR A ARG T U g € AT S
TR W @ 1 3 T T geE SR | ongn o e dae g
TEsira g | ‘
T HATHR ST o Teh BeTeh bl I 3T Y 12 H THSHNATHR Teel 36 THR
AR T R TR TRt 1 S P ¥ o R Hage @ | 9 99 3 ST T8
TG Td HINT |
19. If the median of the distribution given below 1$.28.5, find the values of x and y. 3
Soq [T St A 28.5 2/ (ST x FWiF'y I I SR |
fare oo va 3t 28.5 =5 ofzwEry @3 y-97 T T |
TRt TrarRff AT 92815 S st x 3w y B A R |
afe = 4w e sz 1 w2805 8, x 3R y 1 o 1 iR |
Class interval/ I Sg11e/ Frequency/JI9IAS1/ .
A SR AT/ S | RIS ATORTo /A RERET
0-10 5
10-20 x
20-30 20
30-40 15
40 - 50 y
50 - 60 5
Total/5/TAIB/TR/Fe 60
20. Construct a triangie similar to a given triangle ABC with its sides equal to g of
the corresponding sides of the triangle ABC ( i.e. of scale factor %) | 4
b A2 fage ABC 3 7ptE Wi Ot fage i A0S ¥R @ ABC
NGB St AT 5 e T | (SR ot oo )
B23-GM (EN/AS/BN/BD/HN) 22 3047
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% 378 Rigw ABC-ar 11 oy <o g < TS @@ TSR ABC
MWW@%gemww(w%mW%m)wl
AR TEHR FETRYm ABC fy e T W e anhe e Ry

MABCWMW@W%ﬁWl(%WWW}

T TR T B ABC % e e e o o s, Rt e B ABC 1
W e 2 g | (st wer o 38). - mgm
OR /IRt / WA/ Ta / areran o

} onstruct a triangle of sides 4 cm, 5 cm and 6 cm, and then a triangle similar to

. : 2
it whose sides aregof the corresponding sides of the fist triangle. (Write the

steps of construction.)

4cm, 5 em R 6 cm I 9O fags oI T4 AT R PRS W1 TP QNT

Qﬁﬁ?@ﬂ%ﬁﬁﬂﬁ%ﬁﬁ%ﬁ@%ﬁ%ﬁm%@q@l(w
*rfiears ¥t 1) _

4cm, 5 cm R 6 cm T G FIFH TE FE TR SRR R TP b {rgs: S
R IR ARBA m&wﬁ?ﬂwﬁw@%%mm | (ST oot foricq 1)

4cm, 5 cm AR 6 cm AETAN FHFA-STERY™ g 7R I 19 7@ ITE
afed TR W fE WeR smefRen AR et Aew

SAGRIWRE > ST I Sl smmeiea R 1)

4 cm, 5 cm 3R 6 cm M3 TR Th B Y =1 hifdie Ik R 9% avew w6
s g 1 T e, Foreet s R g e 1 e et 1 S TR R
(TaT % =i ) ferflae 1) |

. If two zeroes of the polynomial 2x* — 3x3 — 3x2 + 6x — 2 are /2 and -2 then

« find all other zeroes.

B23-GM (EN/AS/BN/BD/HN) 23

254 — 3x3 = 3x2 + 6x — 2 TR Jo!I 0 /2 TF 2 | R LD == ety 4 |

234 — 333 — 32 + 6x — 2 TRADR GO U2 GR 2 | 7 ) TR g et e |

24 — 3x3 - 3x2 + 6 — 2 Torgra Trif AR ohRRE’ 3 2 AW 2 | A gy Y

it '@ feg |

afe agug 204 - 333 - 32 + 6 - 2 & R TF 2 3R 2§ 7t o wft It

i A | Eom
G
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